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3.

GomulieonaflAwn ..o, uHDI&EGMOWIED areriLGRDS.
A)  asnreofunb B)  ureioLiFev |

c) Qi@mq ' D) &Qumgshr.
Koilonychia is seen in .................... deficiency.

A}  Calcium ’ B}  Phosphorus

C) Ir‘qn D)  lodine.

‘Slack Mercerizing’ & 2 LGursLLESHGID Coaiflued Qunmer asgr ?
A) ﬁﬁg,g snevig s Gerr

B) SiLibs snsvns Genn

C) . @Lnen ansivigs Camn _

D)  SILfhs GEnsmwwnen srevis Comn.

The chemical which is used in ‘Slack Mercerizing’ is

A) d}lutéd caustic soda B) concentrated qausti'c soda

C}  hot caustic soda D) strong cold caustic soda.
PaiQaunm wrgeliLmnd SPHAED ..o D4 DmbLsssy Dpss
CpRmApa. ‘

A) 10- 20 B) 20-30

C) 30-40 D) 40-50.

During each menstrual cycle .................... mg of iron is lost.

A) 10+ 20 B) 20-30

C) 30-40 | D) 40 - 50.

wepaen Cenmsdled sremmuu@id HmBullst Cluwir eser ?
A) ANLCL ransiidletr B) euwGsonaneiglen
C)  enugnendlen D)  asustgmSleb.

The pigment present in yellow corn is

A)  Cryptoxanthin B} Viclaxanthin

C) Capxanthin D) Capsorubin.

3]
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CoQuelilend arstim elwnd) argeneu Lcdwugns\n egnu@él;og ?
A)  Slygps debreiv . B) Slgm_ Sebreo
C)  Henso_it JTsineis | D) ulnewnfl.

‘FAVISM'’ is a disease caused due to the consumption of

A) French beans B) Broad beans

C)  Cluster beans D) Peas.

@ waflgafish Drss SerneivwneSed wnehoLIrsiy a;snaq

A) 158.8/100 868 B) 218.4/100 H.68

C)  250.4/100 8.68 D} 18.4/100 S.edN.
The plasma phosphorus level in adult is

A)  1.5mg/100 ml . ~'B)  2mg/100 ml

Q) 2:5 mg/100 ml B} 1 mg/100 ml
SiFisnuguner Crrd samwiugted b5 Bipbluflsin Bmb wiprg ?
A)  @CamGunafed B) &Qrmqer

) _ %shcgumémnaﬂdr D} AGmGeaunsieiv.

Effect of prolonged cooking does not change the celour of the pigment,

. A) Chlorophyll . B) Carotene

C) Anthocyanin _ ' D)  Flavones.

usfeney snustlaafics Salrworer @G iqamed gHUGD el LFenF ,'_F,l;om
sigemned ghuBSpg ?

A)  SHCwnsenLig chr B) Lnefleeiv
C)  ACumICrmbles - D) &Grmnger.

The olive green colour of leafy vegetables formed due to intense heat is because
of

A) Theophytin ‘ .B}  Tannin

C) Theobromine D) Carotene. '
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EAMLED  COA-6I6U  .oorvrrrrrrrnns o6 wippeude  UCwmgst - G
Can-srehemenid gp6 Qewsfidpg.

A)  ssdlafled CoA B) wBeoreflés CoA

C)  tyyofer CoA D)  oraGurefed CoA.

Biotin acts as a co-enzyme in the conversion of Acetyl CoA to

A) Succinyl CoA Bj Malonyl CoA

C) Fumaryl CoA D)  Propiony! CoA.
uprseflsn Garesaflan eflengaafigb ag HiHswns o eeng ?
A} urello% flermey eiv Bj L neefeire

C) Yrs . D) | mnﬁé&@.

Skin and seeds of fruits contain high amounts of

A) Polyphenols B) Tannins

C) Proteins D)  Fibre.

utigwe I @ 'upqwd) H oien Quagpsd, £Cyp Gar@éai Heren
eRIGsmms Qanser® sfwrer elentemws CsibEla® : :

uLaguisd 1 LU gwed II
a}  uireourev 1. @usgleremns
b)  SGunige 2. s Cuin wGeodwn
.c) Bmby 3. absfuqcmn@un_@qmﬂsﬁ
d) smwdwn 3. smid.
EBIB s :
a b N d
A 2 1 3 a4
B) 2 4 1 3
C) 4 3 2 1
D} 4 3 ] 2.
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Match List I with List II correctly and select your answer using the codes given

below :
List I - List I
a) Phosphorus ' 1. Anemia
b) \ Iodine 2. Osteomalacia
c) Iron | 3. Osteoporosis
d) Calcium ' . 4. Goitre.
Codes :

a b c d |
A) 2 |
B) 2 4 1 3
c) 4 3 2 1
D) 4 3 1 2.
12. - gulshast, Gefladr  wpmbd SHrtemsufed o eren S NGemellenmi_ssir
aetremeuns QleweouBb ? 7 o | '
A} gystrigapsedl_sia B) a&sﬁqm@uml_mﬁm
C) opeigfiGrOmefls D) oyebriqLimg.
Apples, cherries and grapes contéin flavonoids as
A}  antioxidants | B)  antihypertensive
C) antiketogenic . ' D} antibody. )
13. &prigsdr wpmib CGaidynigaeafleo ﬂGiJ;UGﬂGI] Fgeigib Yraw e eteng ?
A 1-2% B) 1-3%
C) 1-15% D) 3-4%.
Percentage of proteins present in roots and tubers is
A) 1-2% T B) 1-3%

C) 1-15% o D) 3-4%.
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14. &Cyp :G]?gn@é,asﬂul'_@shmmsumcrﬂﬁ ahs euigen CQuiy giewflenw Gleugmes,
e uGursLuGAps ?
A J QUi B) I1Quly
¢y . UGuiy D) LQuLs.

What is the shape of the box in which bleaching is carried on ?

A) J Pox B) I box
C) Ubbox , D} L box.
15. &qﬁ@uﬁ%gmLGul'_@asaﬂGme sr6flw augeuld O\sredrL_g
| _A) @@G&nsﬁ) - B} eon&GLmev

C) &&Crrev : ] D) orfiGenneiv.
The simplest form of carbohydrate is |
A) (}::i:_;tlco'se B) Lacéose '
C) Sucrose ' - D) Arabinose.
16. sneflunisafled aieneu Benmbsicvenes ? _
A} smiGuremapl Gri(sst B) Qangpliyse

C}  yosw D) e Wliéssg.
Ce'realsﬁ:ére rich source 6f J

A) ir?é%rbohydrates ) B) Fats

C) ﬁ}éteins : D) Vitamins.

17. @@G&ﬁsﬁ) Sollr&CL.Terons wrmieusng TG SMPLLT 7

A} mGemoenyCaagsh B) Qu GyndiGrCL_agsir
C) m migddfAev D) 1gmErésCrage.
Conversion of ghucose further into fructose, is known as

A) l; ]gémerization B) - Retrogradation

C}  Synergesis ‘D) Denaturation.

18.  Gangiemo wrefed o shvem Hrgnen Clewed Yrsw

CA) 6018l Bl B) Gsder _
C) ~:;,k@@'—6h D) @Gsﬁuqaﬂdﬂa‘u.
il \%’ : . . .

Y
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ZYLA - 8 |
The principal functional protein of wheat flour is
A)  Albumin - B) Casein
C) Gluten ' : D}  Globulins.

19. yemLufad, Syl ens mﬁbg}tb RNembaefles steben B o ehrenay ?
A)  @CanCrnleSied B) abshcgnmawrmﬂshm
C)  aCrmgemmb (Heiv . D)  enCGanenkSens.
Blue berries, grapes and plums contain the pigment |
A) Chlorophyll _ B) Anthocyanins
C) Carotenoids D) Anthoxanthinsl.

20. o Wisssg C @G@PUN_igen ehlenenauns eumib GHml

A QuA-QuA B)  ssteuecoash

C) wshgeoh el Grmd D) svakell.

Deficicncy of Vitamin C results in

A)  Beri-beri ' . B)  Convulsion
C) Muscular dystrophy . b) Scurvy.

21. Cunellé Hblewgdleo .................... 1.1,,7,1)]1 SO Qagn@laen e snenest.
A)‘ Sismwebt, WBlen e B} OLRAiged, @epibis ofleow
C) Qufliped, semiosin | D) Bense, GenL1bs opflevib.
Folic acid contains ..... and ............. groups.
A)  Amine, Methyl | B) Pteridyl, Glutamic acid
C)  Pieridyl, Amine ‘D) Methyl, Glutamic acid.

22. Cunedé suflenid pasmeminwins Prud mpe e Pigrsuu®Hng
A} iy B) &e0elTev
C) gfefemb ergmuidb BenL & AmueLed D)  sanewmwib.
Fo.lic acid is primarily ab.sorbcd from
A)  Stomach B) Liver

C} Jejunum D) Pancreas.


www.studysite.org
www.studysite.org
www.studysite.org
www.studysite.org

23.

24,

25,

26.

27.

{3008 | [1301] [ Turn over

9 : ZYLA

Sl — Q60 samemms Caruugnd gpuidud Bpb wahHpib esnen ?
A)  Aranswrer ey B) ®pdr Beod

Cl  weEpeer D) Qeustenen.

Addition of alkali changes the colour of beet root to

A) bright red o B}  bluish purple

C)  ycliow D)  white.

ubflenevaefled BmoEb prisess netenm ?
A)  GseogyCeonsiv B) eS&afieh
C}  Quéebr _ D) sibeb { Lemsse ),

_The type of fibre present in green leaves is

A Cellulose B) Lignin

C) Pectin D)  Gums. A
Bpssan_aube, 6g @flw Geusfléssde mrCuniCaclanen Quéaww 7
Al (pLed ‘ B) wmnbsbn

Q) umed ‘ D) uwpensu { poultry ).
Which of the -ﬁ-)llowing when exposed to sunshine loses riboflavin ?

A) Egg B) Meat

C) Milk D)  Poultry.

B gnman’. flemeouled e drer LR né e

A) afievLenwes B  spufinésed

C)  soufnésenwehn D) emufiLrdsed undvGuL.,
The aldchyde of Pyridoxine is |

A)  Histamine B)  Pyridoxal

C) Pyridoxamine D) Pyridoxal phosphate.
sigenen giflain e Cardugnred sorsHfew apuBAngs ?

A) &L U@l’.lq - - B) o gmE&sb U@_Dq

C) Casefl @uy . D) . Gonwn Jeneiv.
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ZYLA ' 10
‘Lathyrism’ is caused due (o excessive consumption of
A) Bengal gram dal B) Black gram dal
C)  Kesari dal D) Soyabean.

28. dgllwen I sisiny ergemen Jiewiplini ? _
A} urdf uum - ‘ B)  seurd vwmy
C) e @Ehssb vwmy D} QunFemes Lwmy ( wrg ebrew ).
‘Pigeon Pea’ is also known as |
A) Green gram : B) Red gram
C) Black gram D) Moth bean.

29. pwb e L efle CLnaCasnlirne Bsemen sE&Ebd

A) Qﬁmﬂ@sﬁ Genpuy ‘ B} enaplraenL e SenevoriiL
C) Bms @encwriy | D} e uirasCangenemtiy.
Tocopherol inhibits .................... in the body.

A) Reduction B) Hydrogenation

C) Hydroxylation | D)  Oxidation.

30. &0y UG Berer Crunllin (penmegnesr 61g) gjsuuﬁuﬁlsﬁT Bm vssmsaileb
. gCr pawre HemayL L b GebwauLL g ?

A CGpuliin ' £ B) @@-Gmulﬁilﬂl
C) 8w wpse-Cruniim D) usi(pern CrUSIK,

One among the following in which both the sides of a cloth are napped in one
direction is ' -

A) Napping - ‘B) . Single nap-ping

+

C) . Double napping 7 D}  Multiple napping.
31. GLréCanSlirred Do e FHUBSILILL G

A) - SrUlUNE SFTLLS) B} BeruGumsasid
C) @p}smguu@sﬂb D} ' (psemw L@beutb.
Tocopherols are related to _

A} Lactation . B) Fertility

C) Infancy ) ) D) Old age.

[a003] (1301}
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32, umuyyresdle abg HBCeam gbleod Genmeuns e ereng) ?

A) QusdGureflen - B)
Q) g'g’mmda Sievéufish D)

oSy, S sbr
S NGuinsuflen.

Pulse Aprotcins‘are generally dcficient in the amino acid,

A) Mcthionine . B)

Leucine

Threonine,

............ Suruy apudngl.

 HNGunefietn

enevdstn.

Threonine

Lysine,

Apifrsi

S RNemsd &g, -

C) Phenyl alanine D)
33. u@usemet sidle Crub &@mﬁgwn&

A)  igfluGLnsaLinen B)

C) GwsdCuinefissr D)

ng_;_l,_g_%;:ﬁqo.pking of pulses can result in the lgss of
. A) T;jyppophan : B)

C) Métﬁionine - D)
34. e iéssg A Cablss mausen b

Al Bmswn _ B)

C)  &evelyed . D)

Vitamin A is stored in
« A :f;.-%'f;h:;[?ieﬁ.li' t . : B)

C)  Liver ' D)

Kidneys

Adrenal gland.

35. Qi ganne ( Retinol’) sysedimen e Gafbg ( Oxidation ) 0Lg wrmdng

A)  GQrigefer B)

C). Qrligermis gubleod : D)

The oxidation of .rctinol forms

A) Reltir'lene : B)

C) = Retinoic acid | D)
36. e.uﬁ]ﬁéégg A ZOSDAED eT6TILIG

4

A} Qrligemmed B)
0 QrigGemmis spubleon D)
3005

Qr_1.Gevred -

= snan_Qur Gl igene.

Retinal

Dechydroretinol.

G\m'_tq.(‘o’afeb

e emaml-Crr Gy emmeb.

[ Turm over
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Vitamin A alcohol is

A)  Retinol ' . B) Retinal

C) Retinoic acid Dj bchydi‘oretiﬁol.
37. aCrmoen e uissdg A aina wabHprLBibd (ppenenwwnen LGS

A)  &oedyed B  @Lé BuCaneon
)  edm | D) pendiny Lo
The conversion of carotene to vitamin A occurs primarily in

A) Liver B} Intestinal mucosa |
C) Stomach ' ' D) | -Duodenum.

38. Peopsdulidn GQodaafld o et Lrsdms Sifssssanuw Cprflsaflean Quwir

stebien ? : :

A)  gytidien : B)  oeNenfistr

C)  yGoaGhweSieh D) &rsGigueleneiv.
Meat contains an intracellular proteolytic enzyme called

A)  Opsin B) Ficin

.C) Bromelain ' D) Catl;lepsin..

. 39. GunevL b ghulL senssafld eihg Camaubhn Qunmer sifls simealle
Ceisauu@Hng ? |

A} eondns il B) ymOCwnflé snlleod

C) dly Aé spfleod D) fipé spfeb.

In the postmortem muscle, thfl:re is accumulation of certain waste products
especially ’

A)  Lactic acid - B) Propionic acid

C) Butyric acid ' D}  Acetic acid.

40. QEpoeN&sTUNS B e (1pp plﬁésgﬂdl DY)
‘A) 4.3 /100 ﬂ B) 534/1004
C) 634/1004 D) 734&/1004A.
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43.

Total dietary fibre in Amla is

A) 43g/100¢g B) 53g/100g

C) 63g/100g D) 73g/100g.
SCenmedls snbevd erdley esteng ?

A) QeusirGlemmi B) QGaiiami aewblerni -
C) Ganwunlen sraiwmblewmi D)  Bebi ereterGlenmmi.

Linoleic acid is present in

A)  Butter B}  Coconut oil
C) Soyabean oil : ' D} Fishoil.
GCpnuseflstt arremismes s Bl ............... e UAGErgEmenaemen £ L6

Hessemean soefred wpmb ApBramsae pLssuLGADS.
A Aefefised |

B  enLwi /e emeflue

C]l: Ceounyi L M/ gpiiaiésn b

D)  uGWrOsRNEs0/2 Ui CoudliuSiuey.

.................... tests are conducted on tissues like liver and kidney, to detect the
cause of the disease.

A) Clinical "B) " Dietary

C) Laboratory D} Biochemical.
S wonem sremLullsl ememeue ... ... egelgh sPmb aevL o_eer

Quilweuiisst 2160 srenL. Jfla(pereauiaser gy e

A) 10 B) 25

C) 50 D) 75.

An adult weighing ..............oeeel per cent more than the standard weight is
overweight.

A) 10 B) 25

C) 50 o D) 75.

[1301] [ Turn over
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2 L 60LI(HIDEMEN ....vvnnnenen. s gjgriuenL Wlev sreunflunals Nfléseombd.
Al BMI B) WHO
C) SNP ' D)  NIN.

Grading of obesity can be done based on ~
A)  BMI : | B) WHO
C) SNP . D) NIN.

il g e ienen senereup en(Bb (o1 Hempullemen (PHEHwSFiub uNMLbHSHNS
SYEGHUSDE ..ocvvvereeennn, 2 uGuindléseonb.

A)  Boew deyegens

B) egdlursoren/Crolysyren Nemyoosmns
C) OeaeaflFswnen Seyesams

D) QewsutBemw Seryesems.

Emphasis in a living room can be gained by using

A) dark background ) " B} contrasting background
C) light background D} functional background.
.................... sThTLIg) ARgEUMLEGHID  JgluemL s . Clardienssamen

Csemeutiue  Curg eurpsmalisd GCembpd  LHML  LWETUNLIGHE
wé&Hwggieub srouLssmiqgw P maefled SlirCurab QFLugnGh

A) HeLew FEsmEN

B) uflwnewrd k .

C) . Oeausfluurimu emBiBe0 Jipsen HG60

D) S gL FLUBS(PML WS

.................... is the application of the principles of design to the problems in life

where appearance as well as ulility is a consideration.
A)  Good tasle B) Dimension

C) Surface cnrichment D}  Space relationship.

{3005] : '
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49,
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. A whengaetisn eenL_emw SIMSGW FreOL.4 s Casd siemuarg)

A) A wrssled Bmbg s A LiuEib
B) &auphenn L lg OigruseSliu@ib

Q) | supemp iy smeussiu@id

D) " sl soLwren Cupurudle eneusstL@ib.
Salter scale used to measure young children’s weight is

A) B hung from a tree B}  hung against a wall

.. CL. + placed against a wall ' D} placed on a flat surface. -

FagIeY (HeHDUIDETET @G Phamsulss Seme snmaeuneng)
A) iy spoetene eSL Aflug

B) - wnriy smoenenes el Quflwg

C)  oniy sHDETRSE FOLTETS)

D) briysE aks sbubspd feniwng.

When a child Ais malnourished, the circumference of head .

A) is smaller than chest B}  is larger than chest
C) is equal to chest D)  has no relationship with chest.
ssgieuemiey wHUIG Clenwd Gurg ... creeeenineene LIGETMSENGD Fa (D)6

G;_r,qm Clreeungey, gifle vamb Clsea), grmisdl snib wHpb LAHA CumHD
L6 Caemeu erour 2 UCursLLDSGIuSe Ae @ENDSE o_6eng).

A) a&ﬁ;@vn@un@ml.'_lﬂés B} uGunGlsblasd
Q) aﬂstﬂslsﬂad) D) ml..u.u.'..t_t'ﬂ.
Some drawbacks inusing the .................... tests for nutntlonal assessments are

that it'is time consuming, expensive, requires lab and trained personnel

A) : Anthropometric ' B) Biochemical

C)  Clinical D) Dietary.

e® Quiw Quigmer muw LGHGSsT LsssHe maugs Aflu CQurmene
soww LEGSHIeSBES SNTONS HEULILISTR ...oooeeeeee. swflene e eurdipg.
A) aupsasdnE wrmrer B)  emwuwioter |

C)  sup&sLLIgWITE D) sHllswsoner.
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.................... balance results when one large object is placed near the centre
balances a smaller object at a greater distance from the centre.

A) Informal B) Central
C) Formal D) Casual
51. eueuemwLy Q&nenensHmefe .................... @b SIglLmLd Qanemsunsig)
aihs em FLsdfnEd abn mww sauear riuysare el a@sEw.
A emeyGamsd | B} fgw/fMuliyoremid
Q)  (padupgieuid | D) eSdsuisb.

.................... is the principle of design that leads one to have a centre of interest
in any space. : ’

A) Scale B) Rhythm
C) Emphasis D)  Proportion.

52. zﬂqgcmn&mnsm sggicmoiey S gdlet ( evQueagsd Ay fesn yCrrndlrnn ) £
: @MY (PSHEV DI CUW SIS (G LL L @g;,l_t,mga.m e_sowrey Qumydletpentit. Gleuiraen
QupbLmgb eurp G b

A)  &gnow

B) dflw ul_emwnb

C). H&JD

D)  wenevsni @L.ii)lugﬂ LHDHID BEISH L.

Special nutrition programme provides food to children of age group 1-6 living in

A) villages S B) towns
C} cities D} tribal areas and urban slums.
53. SOPEILYE @uEAMmaETLS SHHMENNE] S LIOOGTE ..o, &@ S

2_sen Gyhmgsaildt  ssziemey flemsvemwenw Cubu@Sseums
_@H&Canennss Qanstu(Dieeng

A) S wrsb B) el wrgb
C} Qo suwg) | D) eapétpy euwgl.

Tamil Nadu Integrated Nutrition Programme aims to 1mprove the nutritional
status of children below

A}  six months | B) eight months

C)° two years o D}  three years.
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54. Beorfleoed Bpsener, ................... SOUUE NG B W (Pigujb.

A) g@,gm adbdghd Hplaey e

Bj | aqﬂ_umn_mnﬁr fpiusey. e

C) :Qudm_mb LI swaen L LILE YR

" D) . SiguuenL mp@pth- Q&dnj_m uL.swnen Hphsen .

: lnicm9diatc colours are oinéincd by lmixing |

A) neutral colours' . | B)  primary colours

C) -secondary colours D} primary and sccondary colours.
55. geilay wenpHY Qmehmunuem penflagnie wbm a@ﬂuﬂdmug. Pereds,

pmisenen fleopyyl Lib g ?

A)  Seysdedin ‘ B) dAeflweng.

C) Genfim D) Oeauligi,

Which one of the following is a starchless finish that imparts lasting grispness in
sheer fabrics ? ' '

A} Fulling | B} - Clear right
'C) Tentering | : D) Weighting.
56. owuflew g_ﬁl;pmmmy M implish wesenonsias whpb s Fansoses_sn
.................... Hmwas CauanGub. :
A) %ﬂum QEgiggonp B) eflfwenpuns
C) 't.‘l]o;ansmm ' D) @83 sdnamouy .
'Colours on walls should .................... .with furniture and draperies in the room.
A} dominate B} contrast
C) be bright D)  harmonize.

57. L& eamLsHw amgmgﬂ@;b. Ll ogg @m_lngs\flsh PG Haenen
gagugho  wipsgriAddn  udieflaciid LG  wreTBELSE

cerereniennaen SUPRISUUEEDE.
A udfu e ewey B) s.ewa)
C) esruur® D) wdu e aney.
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58.

59,

A} QLB e eRmTTSEElgLISNEID B) eueflemw Lﬁlé»asgrr@,m

60.

18

Children studying in.corporation-run schools are given ................ ... to gain

body weight and clear off deficiency symptoms,
R T .Ih oA e v

A)  Diet o _ B)" Food

'ﬁlr b LLE i

C) Meals D) Mid- day meals.
[T LD T'oh | P . - TCT AT ST} T

e L 6uTIg WIng n..L_Qammmasmnq.uJ @msm L LCTLLL TR sTetTLIEN S, v

CFTRI syengy wifled .gmeﬁsin méhu o_smeq Qt_l_gﬁsiu ) "@és1enpLICLIE
gwni Qswdps. T wot ot f

A) 2.9 o ey o : B) o uflhes cab
C) 553@‘9_!!!'_I_Lb T D) &85 o emey ( F5FIWRY ).

A ready-to ‘eat food supplément developed by CF‘TR] is called Tt and

is produced in collaboration with the state ’ govemment for school{feeding
programmes. R s ' -

b

A)  Biofood - aed ) B) Biofeed L if

C): Energy feed b D) Energy.food. . - .

angeuniseanengl, gGsn em Siwne

C) £sﬁlumnm§rr@1b < ' . p gu.umnmgn@l.b
¥ T T

Form is somethmg sohd and

j 1 Al L

faw u..:w -

A) tangible e s B} s‘trc:ir}gi .&-@l o -

- Q) severe o "~ D) subtle. s
KM Fﬂun@aﬂm a.u@@pm._rrsm aqcos\)gj mg;sug;qu, gmmmwnmgj SIS 60
Qeuefl&Fe&5mE .......eovvveenene. SleTeney unﬁlﬁ@m : )
Al Qrdueds@n e B) e digpab
C) t_‘ﬂgﬁlus\ﬂé,@w .g;somy a.@@emb D}  SLwrhmib. R
The routghnes; o“;" smoothness of a maten;i a:ffe::‘:s 1t: capac:1ty to s
light. | Tl g b O S
A} reflect L . B) absorb . .
C) reflect or absorb . L D) transfer.

;(1301]}
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wrsennrenseaflsn ( uieflésisaflen ) ﬁ;ggeimmmmw STmleICasr®  isen
....... ceererennens UAGETHSS Coustr(Bid.

A) euemETWD SelEROMLIL|D B) eeflenwwnen Elenevenubd
C) Pewrsaiblehenioenuwiyb D) wmOEmevenujb.

Apart from the solidity of the furniture one should also check for its

A) flexibility | B)  simplicity
<) rigidity D)  neutrality.
unfiugnHE SAdsorer g  SPibgeer  uempw LFESTDTENSEDEN
WPOQUSDE eveeerrearenne wenpns B\(mHég .
A} Sengsdened B) gieflwneonsm n_mg)a;sh
C) al;o&mrrmlh D) =semed mrisgientl/g el
BT are good for covering old furniture which may be ugly or torn.
A) draperies B)  slip covers
C) rugs . D)  linen.
engey pemreneu WL (b o elTUIIET Sieugefleln LIsEssgEib, sefvremimbLs
FSGIb UHDTEGMM UFIL FHES ...cocvveeneeene Siflad o 1 Clsneneneonid.
‘. A) g,nésﬂu.nﬁmsi'r : B) ULy UGS |
C)  wume . _ D) uéenss Seory, smiushiss. -
Increased consumption of ..... et for vegetarians can make up the

deficiencies of protein and calcium in the diet.
A) cereals : B) pulses
C) milk : D}  green leafy vegetables.

Sngeu 2 aweunen  (pLen, [eopsdl wHmb Lﬁelnssmsn £_efnuieufael
.................... UDHDSEGmDHEnW Se8 fEaeND.

A)  yrsb B) emeulLibletr C

C) acmmm D)  yeemplew.

Eggs, meat and fish can make up the deficiencies of .................... among non-
‘vegetarians.

A) Protein | B} Vitamin C

C) lodine A D) Fluorine.

. 1 3008: [ Turn over
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.................... uisfisaigeflsn ( wy smonenast ) SiumL_wrer Geugde

PN SIS SISHITERIOS, SHSWD S lg @,r_()]as&rrg. 671 (D Qurr@,r_r,g&
s qwiFns, BHess Fmiqguwin@.

A) mefen

B) wrmhPwenosed snigw

C)  @MUALL &6 s L_gHeperen

D) wyysuf (wempwns aupsasSeyeen.

The spirit of ... furniture is basically one of simplicity, impersonality
and adjustability.

A}  modern ‘ B) modular
C)  periodic D)  traditional.
Clgmiugw Slempaefledr ...... feeeererereas weDaIns: ameusaliuL Coasr@ib.

A} Sengsdened wenpay

B) anieneneiv/Qangmrs:

C Quewl /Flengsfener Cued i 107 Quqeud
D) &(p/FlLib.

When curtains are hung, the woveeeeereerenen, should be coﬁceaied.
A} valence | B) comnice

C) pelmet - D) frame.

Q@ Seonse e ult Qarhuug Curead, Hmperw Basan Qulugrseab
ST (DQUSHE ......ooeverereerre. LWSHTLIHID.

A)  eflens@een

B) &5 63T G50 T Ly & 611

C) Lit... 1B BB 6T

D) saufled Clgninigid Heorisnyrisen.

T add life to a room and are used to make a room loock much larger.
A) Lamps ' B) Mirrors’

C)  Pictures D) Wall hangings.
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68. eemeysSLAUUIL® sbUbgGoTer gpiellen Gurgl ... (y)su;g)mmu

Sesuppib Curg e e eriun L Quigplsmer surhidl e am g UHB
udla Qi DEED umiiiyse o steng).

A)  QFeey wenmae

B) seneyClanen

C} o _comeyseflen 5@&@&u¢qmd}
D} Cafluiwed &ibmrr_r,gmnas SLITLISE0.

In the oo, ... method of diet survey there are chances of forgetting to
recoid 'the purchase of any particular food that was bought and consumed.

A) expenditure pattern B) weighment
C) food inventory D) chemical analysis.
69. Seeyolanst  (penpenwls Nemuhhl  BLSSLLUGL e ewrey s GUu@

SDULSDNET SLUISIEDET ..., BTl s6fled BL_$8 snL 0 :

A) Gumr - ' B) udﬁqm&

C) Qeusrafladlpeno D) epnllpmsdpeno.

In a diet s;.lrvey the weighment method should not be done on

A)  Week days ' B) . - Festival days
'C)  Friday D) Sunday.

70. 9@ atemsden Bps sermvmu s isHursGasbe,
A} G'Imslhmm Bindeng Caisseonbd
B) usasdleimaen Bnsmg Getbaeomnb
C) samenionr Cersseomnd _
D) smuy Bpsos Gaitdmeomb.

The value of a colour can be darkened by

A) ~ addition of white B) addition of adjaceht colour
C} add-it;bn of water | D) addition of black.
71. BlgHuwrenr  QeucfisssSlenr  Nranswrengy  unimanle  gHUGSED
@m}bw | IO FMBTWDTENE] ..o stemiILBib. '
A By B) &@menw
C) saimsnsid pefl - D) Y Caetoriged.
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When the intensity or brightness of light causes discomfort or interferes with
vision, the effect is called as

A}  shadow B}  blackness

C) glare - D) foot candle.
72. Brssd sveug HAmiffled 2 cen ssgisssmy UHBl .o (PEDEET
. PLPEULD I ETTEHHEVMID, '

A} Geuglulwed B) 2uiflwsed

O ol Caufiwed D) Quendsi.

............ \.owenee. methods involve estimating the level of the nutrient in blood or

urine.

A) Chemical B) Biologjcal

Cj Biochemical D)  Physical.

73. @ EHsI6WT6 ab;Jsﬁleo o 7 GCaudlwer (wewpsemen LweTLDSS
T e, Comauuu@eugnes Samen aupsawren oplaseflédy vwaLBES
(Y iq6ubledene. '

A)  eusfluner e &Em LD

B) Gungiwnen Cousned 1 e

C) Qu@b srms

D) eusdlwnen gyliaése L (pib, Gungionen Caisned oL SHEHLD.

In a nutrition survey, the biochemical methods require .................... and hence
these studies cannot be used on routine surveys.

A)  well equipped laboratory

B) adequate staff

C) huge sum of money

D}  well equipped laboratory and adequate staff.

74. \DFETOIEHEENET B &S auflensiLBSgIb Curgy
DTENDTENEEHSEE ahnaurn HsOuBSE measasiuL: CaumBw.

A)  260enenfl /e SIAL Qunplae
B) sysmo '
Q) & 6UOTETOT LY.
D) eftlendgaen.
|
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In the a;'itangement of furniture ................... . should be 'kept' in proportién to
furniture. : ’

A) accessories B} clock

C) mirror D) lamps.

SWPSHIL UL eml b s ulenL Wb SEHBGMMSS SHOES ey
Heomeyl L e LGursiu@img ? -

A)  LepSlemendin B) eflwi Hymeri
C) Seflwi enm D) Qsstiemysivi,

Which is the fabric finish that prevents wilting of collars and cuffs ?

. A)  Trubenizing B) Sheer croft

C) . Clearright D) Kandarized. -

' mésasﬂﬂmfi@m BméEh 2 anassl_ QUUILG Gmpaane) e ibl@iiaefier

GBS SHEUSEINT .....cveveneennne Cangenenaen apsoth yflwieontb.
A) e fli-Quendsb sbupswrer/uGunidss

B} adisen &Lbu,lsg,mnéll CrigGureorgdleed

C) &r?mb &abugs,smrrm/:.ﬁﬁassb :

D) Gemuesmbiiul L axméeEiw/Heflaflsse.

Direct information of the signs and symptoms of dietary deficiencies prevalent

among people can be determined from .............. beveee examination.
~ A) Biophysical B)  Radiological
C)  Physical D)  Clinical.

L Wrgeng emeudHIl unib@id  Gung B @b SFsluguneT 2 L&
ETEHLWITENG.

A)  s&siemey Gung,m-mm

E) 5@1&6%1 UL

) Lrsw whHmih sCorfl uppréEaD

D) o_smaf sL.uur @ﬁs\)n@ umhSSHSS6.

Excessive' weight in relation to height is due to

A) . undernutrition B) thiamine deficiency

183] protein calorie deficiency D)  dietary obesity.
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.................... Sersemen Qs Gurg  seubeep  Sipsnss
arBeugleh, Seupilsh MP&GD HTOSMSULL N afsEw.

A) e Lypib glewll meugsg engssiiu@aigred
B) &evemeu Q&u’.:mﬂu@m/'@m@&&ﬂu@m

C)  esmulfluu(ibd

| D) SoALou@b

79.

80.

.................... helps curtains to drape well and last longer.
A) Lining B) Bleaching

C) Dyeing D)  Printing.

.................... Bevau Gasw®m ( mAma Hsdlr Caumertuunr® siwwnhs
vl Lo ) Curemg). spenred g BLBHU Cursdleyster Beny LmSSwned
g Cogb gienflullss @misE ey Grwrsh agub Clswhens LLL Ko
RETGI-

A) Gullsivl R/ Asdlrs Ositisenme ( SEORsTIS Qg g fewev )

B)  Lnrwreivd ( Femwred mriss el )

C)  ul@®

D) swuefl. ' .
.................... is similar to brocade but the warp yarn is cotton and the weft yarn
is rayon.

A) Tapestry | ' . - B) Damask

C) Silk ) D) Wool.

Cauefisesomns gm siurmd aflure Qegiss Sms @ el @sﬂu.ub Bgi
AP&FRFLW ..., 2 LGursLUGEDS.

A)  errCamned eneol g B) eviligfli smeor g

C) Ganeu emeor g D) Guened enevLigmi.

Light directed through an aperture to fall on a wall painting is
A) pinhole lighting , B)  strip lighting

C) cove lighting . D) panel lighting.
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seaufldy Bememssiul @ Qeauallsssms Cpawrs LPCrrafypd wHDHID

ugdenw Gualrrédlujnw ULrelBeaigs ............. pevees Glausflgswongo.
A)  Cmrma @eveong ( Betrenl_Glrél. ) wenpups

B} Lr@ Cronen ( Qe emL_Qpdr_ )

C)  Coyren (mL@réL )

D) :Lmﬁ Crrre Beveong ( Clold BeemL sl ).

When a wall fixture spreads illumination mostly downwards and partially

upwaf‘ds, it is giving
A) indirect lighting B)  semi-direct lighting
C)  direct lighting D)  semi-indirect lighting.

........ s, GI6UILIGE GUENTESl wHDID FSGiemelen flenevenwanw Hfieupsnen
steflemwwine ojeneyGaneon(gb. '

A} gm0 S&HMETey B) by smmeney

Q) .awu.r:nb D) etemL.. |

....... is the simplest measurement of growth and nutritional status.
A) Head. circumference B) Chest circumference

Cj Height Dj Weight.

Bzwen egelzsdlen unGam sampseflen Hions seveg S Liones
sten_ s gz wns Qeusfuli sonb. :

A}l siulenflu Questnseflsn semL.

B)  gmOliuned esr (b gminoniseflshr erem

Q) dlLeneod umeusSanfeh aemL

D)‘ : @Q,lsmgéssﬁlsh sTemL..

.................... can be expressed in terms of percentages in various percentiles of

~standards or as percentages of standard weight.

A) Weight for pregnant women B)  Weight for lactating women

C) Weight for adolescents D)  Weight for children.
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84. ulued I @ uliqwe II 2.6 GuIBsS, cB’(Bg;Q QanB&sLul_(Heren
@S Gamms Cansn® shunen demmws Caipos® :

UL quted 11

Bmsw ey GuiignEge

fer  erbyssT  SHeTemTmg
Guinsiiy Benhmbd

aIIbL L6y JiSlsnged
sty bysefled wrdmb.

Match List I with List II correétly and select your answer using the codes given

U igwed T
a) fl&Gla el
b)  Qufl Gluf
c)  Cei@enmGrnAeiv
d) (GpEmsU LmHe sivsied)
I CEL
a b c d
A) 1 4 2
B 1 2 3 4
) 2 a4 ] 3
D) 4 3 2 .1.. -
below :
ngt |
a) Rickets
b) Beri-beri
<} Fluoro;sis
d) Infantile scurvy
Codes : |
a b c d
. A) 1 4 2
B 1 2 3 4
c) 2 4 1 3
D) 4 3 2 1

List 11
increased cardiac size

ground glass appearance of long
bones

. increased bone density

changes in bone.
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@@t&l&mmﬂag @yhamgse amitdds sl - Lﬁmpn aendm uuiHAs
,e;F,h_L_g,é\m LGS asn

A)  uenflu uulhHeA

B}  ussrés uliHd

C) ys e sdlsmen guliusmLwnss Qarem_ LulHd e

D) Leneu gismenggith.

The c::mponents of UDISHA Training Programme given: by ICDS are

A)  .job training B) refresher training

C innovative training D)  all of these.

uﬁ.lq.u.id) I ( Siimusst ) L guwed I -( QowsurBsst ) o.Lsir Qunmsd.
£By Qar@asuu_ e  GPUEsmms Qanan@® sfluren fenLsowug
Gﬁ*ﬁ%ﬁ(@:

LI 1guwied I UL iguied II
p /- OrwsbOLinPaer
a)  sups Qurgemg iy S b 1. eldlellsvsanen &WphanssemsE
o_eiwr_nen flpaueno |
b} getieflFeng Cewsun_Hsé 2. @p,f_t,‘mga,dv Snuush
o GG
¢ Ssrey Grameu 3. Quetmaen 8 (kNS EHSHS 6T
wmjeunipey Coena
d)  yguemwwmesr S i1b 4. eumwnen 2 Husdlaren
Qewsoun(ser.
elI@ s :
a b c d
A} 3 2 1 4
B 4 3 2 1
) 1° 4 3 2
D 2 1 4 3.
1301 ' [ Turn ove;‘
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- Match List I ( Programmes ) with List II ( Activitics } of the Central Social
" Welfare Board correctly and select your answer using the codes given below

List I List I1
Prograﬁtmes Activities
a) éocio—cconomic programme 1. Institutions for exceptional
- children
b) Voluntary Action Bureau 2. Day care centre
c) Supportive secrvice 3. Rehabilitation services to

women & children

d) Innovative service 4. Income generating activity.
Codes :
. a b c d
A) 3 2 1 4
B 4 3 2 1
C) 1 4 3 2
D) 2 1 4 3.

87.. psasn saphmismen SLIs

. oifle seme yrgs  @sopur® ng')gtb pOGsTOIET  F&HS
GEODUNL_ g 6Tl @euraduinise a;bu@@mg.j

1. sifle oeey 68  @opur® LB 5®§gumn6m )73
(HODUNLIGETIED oI amu@eﬂgngj

Bauppyer : |
A)  TuoL®b sfwreng . B) I wi@wb eflureg .
C) lwl@wbll @_rrsdw@@m Seum) D} 1wl ®wb il Braser@Guw &fl.

Consider the following statements :

L. Kwashiorkor is causcd due to moderate energy and severe protein
deficit. :
. Marasmus is caused duc to severe cnergy and moderate protein
deficit.
Of these :
A) I alone is correct B) II alone is correct
C) Bath I & 11 are incorrect . D) Bothl1 &Il are correct.

005 | [1301]
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88. ul..lq.lud) I g uigwed I eiéd CQuigsd, £8p Oar@asiu@eren
@ﬁtﬂ@ammé Qarstn(® sfhwnen slenLenws CoitQs® :

Uigued I ' uuq.l.ud) I
5 Apeian Smomwvwad
) * a] NIN 1. flupwnis
) b) WHO 2. mmgﬁnuug
c) UNICEF 3. Glggefoun
d) FAO 4. Ggmb. |
@;élaf@ash :
a b c d
A) 3 2 4 1
B 2 3 1 4
g c 1 4 3 2

D) 4 1 2. 3.

Match List I with List Il correctly and select your answer usmg the codes given

below
List I ' List Il
| Organisation - Headquarters
_a) NIN : 1. New York
b) WHO 2. Hyderabad
. qic] UNICEF 3. Geneva
d) FAQ 4. Rome.
Codes : .
‘ . a b c d
A) ;3 2 4 1
B) 2 3 1 4
C)'nl 4 3 2
D) 4 1 2 3.
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89.

90.

S)&& I FaHIISEMET SIS © |
L urgpm Gu snisE HSergpd grsmrem o emayd Sl §Cs1H
- G (DIBORSE p(H(YEOD SrwaeT e ewveyb Coemeuiu@Emns.

I UL @b SMLSE S STVSmS AL urrgmi@gs‘u FwwsSlen
: Gonhs wHdGu Csmaiu@dps. el SBsTL Bes
uiFAWenL 58 & Yhmss s enl L gms ieflsdmner.

Beupgyetr :

A 1&f 1l osH® &lﬁmnm aflendasneden
B) 1 wpmib 11 Gretw@Gid &4l

C) 1 elﬂ‘abmrrsi) 11 geum)

D} I wpmb Il Breen@n seum.
Consider the following statements :

I. A nursing mother needs one additional good quality meal everyday in
addition to normal diet.

iI. Lactation imposes lcsser. strain on the mother than pregnancy,
because she nourishes a fully developed baby.

Of these :

A) Iis true & Il is not the correct explanation of |
B) BothI & Il are true

C) 1is true but I is false

D) Both | and 1l are false.

Gaumevr Glewwb Geuefluurudlelr ... fiha  6bevg  IW(Hid
flemeoemiu eI ElESETaIqW aligaumESIIUL g (Hés CeuaimBib.

A) L WIFLD B] . ®seud

C) omeyGaned D) ey

The .o of the working surface should be designed to allow either a
standing or sitting position.

A} height - B) width

C}) scale D) measurement.
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Bgrem fleyenr. Hensowneng e Couemenligener enasajssn
upl Qsflsab, Jmsasmas GMDEGD Pepsemea oPfiub Speiameujb
uhBlwETEHw. '
A)  Geuemev

B) Qeusmevssnen etefigns@sed
C)  siensayseh @;ﬁlgg EHTUSD
D} eowsCriGunrastt Neflb emmellgsiv ( syrmusd ).

is an awarcness of the motions involved in doing a particular job

....................

ahg;l an interest in possible ways of reducing them.
A)  Work _ B)  Work simplification
C) " Motion mindedness D)  Micromotion film analysis.

A0 95 udley GQaugenen Geuemensaflst sieneasaflsn aaflu  GHammeng)

.................... sremiu(pib. _
A} sinfeSsen o . B yeimivy eSens
C} o Lwed Buwésbd. : D) M.

The work motions defined by Gilbreth recorded by simple symbols are called
A) Therbligs B) Gravity
C) " Body mechanics . D} Rhythm.

Bfled &@@5 meugg CosbiaoCGunir. GlFL. a6y Clemseoiu@bd Qmm%l"_t_l.b.
&0y @HNuSIC_Dieher a1bg sienfleE Hfswre QFuwuu@Gng ?

A} swuefl ' B) ul®
C)  Crunett/umsH D)  enmeoneb.

Mainly which one of the following fabrics undergoes a pre-shrinking process
called ‘Sanforset’ ? :

A) Wool . B) Silk

C) "Rayon/Cotton D)  Nylon.

cguq.a‘;&lq. e uCwraliu@PSEb GluNmLSemen ......... S BL_sdléd emeuss
Ceustor(Ho. :

A} Gueéd v B &y usd

C) SHEUITIDL_L. D66 £_LITLD MU D) WL WI(LPIQUITS.
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Frequently used items should be placed at
A) higher level B) lower level
C) cye level D)  out of reach area.

.................... sowemp S Lwoiwg  GSEGLNE  GRUBUYSEHES
wweruBsuuB DG

A)  Agbwonedrwonen ' B) @meeuit Qsnshw

C) U-eugeub QanetorL. D) (p&Canemt augeub Clanemm_.
...... tevereennnsn.. Kind of kitchen plan is generally used for apartménts.

A) Large kitchen B) Two-wall kitchen

C)  U-shaped kitchen D)}  Triangle shaped kitchen.

gienflenws  ( napping ) OGeweighE eubursuu@ibd ceibs el
Bisnesflwwren Fensouunsgid a1g ?

A}  mCleed o B) Jdiliged
C) Clsed D)  Yirsigdn.

Which onc of the following is a dried thistle flowerhead used for napping
fabrics ?

A) Easel B) Beetle

C) Teasel D) Brushing.

S o@D Sl PHGODLU  UPEHD  ...oeeeerrennes @O bukissfie
snetuu@Engi. ' '

A)  phwisen B) poydflad

C)  meuitsen . D) @@eriam.

Tarwad, a type of joint family is prevalent among

A} Nayars B) Nambudaris

C) Izharas D)  Irulas.

sms afl @Gwvuser Wsdw @Gempasamta sHSHLGMS
.  doweansdne DG waeanel aemeaush GHwusdlbe Clesnmy eumg

Ceustn(pib.
L shmggren @bbu Cengdlne Sidudl.
Sapper :
A).  1& Il sflwneneneu B) Il vl @b efluneng
C) Tw (@ sfureng D} 1&II geumneneneu.
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The chief characteristics of patriarchal family are
1. the wife after marriage comes to live in the home of the husband

11, the father is the supreme lord of the family property.

of thege :
A) 1 & Il are correct B) IT alone is correct
G} 1 alone is correct D) 1& I are not correct.

B é,gﬂuﬂl.'_t._ sneueny geusneerlled o eden Cousmevaaflelimpbg aumb
Lmuﬁﬁl SisTedlst LInIGOEMM HPflW 2 Fab SmHed

A)  Ceaueneo s B} Geaume sismeygdliib
I

C) Gsusmen suenemayeusny 7 D} Sugpd.

A device used to study changes in output of work over a period of time_is

A) work load B}  work unit
C)  vork curves : 7 D)  plateau.
........... Qensgisaaflen ghHCuremsw whlemu euelluymisgid. |

A) QmﬂmmLﬂ ( amﬁ\-gu Swrflggse )
B) absmgl Qummtiy By L _eusness
C) Cenhss Cousmgw &1_6b

D) ey Qese; sewiée eleumb.

RN SO stresses the present value of assets. v
A Inventory B} " Balance sheet
C) Liabilities D}  Accounts.

paQaunm @GHbuwb , GGWU Quurrgp, umbufiu  amsdigb
SimpéstLBagl '

A eube | B) dendlu

C) Guy D} Gum L.

Every farnily is known by the name and has its own system of reckoning

A) dgécent B)  kinship

C) taboo o l D)  totem.
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sk b, asarasSlb, @aGeur(, FpsTuSsSle aremiu@n Senwliy ?

A GOwub B) | ®hbusosmsa

C) goudl D} s,

Which is a universal institution found in cvery age and every society ?
A) Family . | B) Hereditary occupation
C) Caste ‘ : D)  Religion.

@i  euemb T igepETeT  SiemeisS BUIGEHSEGSL  FLbTEN aqsné‘ils‘o

oL 6885801qW @ JPBTTD SyELD.

A) &84 B)  uewib
C) OCmyt - D) &mei.

.................... is one of the resources that is available in equal amount for each
and every member of the home. :

A) Encrgy' B) Money
C) Time ' D}  Ability.

Sletreum  aunsdunssiies  @HLUSHsr uenflaer e dmar.  eubbled
gflwnrenieney stemeu ? '

I S6br 2L 60 2 ewrieysemen ﬁ@ﬂ,é,]u@gg,jgm
L spheng ity '

[,  eub&FmISHEMET 2 (hHeundhESHS6eD

IV, suwgneneuiiGemnen LIngI&sTUUg).

Beuppye :

A) | Smensgb sflunaranel . B) L 11 whHmpud 111 sflurenenas |
C) I,- 111 wHp IV sihwursneney D) II wiHpnd 111 sfiwremsmeu,

Which of the following statements regarding family functions are correct ?
I Gratification of sexual ncedsl
II.  Nurturing the children
1II.  Procreation

¢
. IV. Protection of old people.

Of these
A) All are correct B) I, Il and 1II are correct
C} 1, lll and IV are correct D} Il and lil are correct.
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105. sal_(Hé@Hbub Beveonosd CurensHEGS Siyesmi

106.

107.

. epw Quenast wmnbwni, presant, eufsEpen essL CursTosd
. @@uugib srhsd o fAenwenw GalLgb.

L. prefe wwworgeyb, Ogrflewwwrgeyb

Beuppieh :
A)  ToHmub 11 sAwneneneu B} 1wbmw Il geumnensney
C) 1&fl gemned 11 geumy D) Il &fl gyemned I geumy. -

Which statement is correct regarding the disintegration of joint family ?

L. ~ Educated women often find it difficult to adjust with inlaws and quite
 often question their authority which would lead to disintegration of
joint family.
II.  Modernization, industrialisation are the cause for the disintegration
.of joint family. '

Of these
A) Both I and II are correct B) Both [ and Il are false
C) lis correct, but not Il D} Ilis correct, but not 1.

QW@&Q&.HG&I@] sbubsamLw apeoltlurmLsallsn  guemanss Cesfuyb,

51606606 Can (DL 6 snigw QFWS @DDIEHWWITENG ...oeeeeneernnen. s ILBIb.
A}l s o B) @ebr_iQueiv
C)  senwuy D) i@ (penmuirest gmml&q. |

An organised collection of interrelated elements characterized by a boundary

and functional unity is

A) component ‘ B) interface

C)  structure D) system.

dpsaamcupies R sreng @@ LuSHelr Gawdun(n aship sapeficdensd ?
A) eubsnaufl o (HeunéE g6

B] sfepsnwurk@se

O  eWuGUYDWYL LHDIb urgyaiey Smudub -

D) wsw.

' 30058 - . [1301] : [ Turn over
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Which function is not a family function as mentioned by Reed ?
A)- Race perpetuation |

B) Socialization

C) Regulation and satisfaction of sexual needs

D)  Religion.

108.

BM&Rs @GOIDLD e, WSS e L Wg).
A)  bgFeTILHD : B) GCriwsnmuwnes
C) eadlivenmuines D) yeflgwnen/wg.

The modern family is

A) secular in attitude B)  positive in attitude

C) negative in attitude ' D) sacred in attitude.

109,

110.

frrev  wpHpib  SrnsiiLedlelr  sapmitiLg s @@  CuenaumwnaE
wé&fwwren Bound Curstim @ uigfleneo sreug

A A fpsed B) Sinoremb n@é)ge‘\)
C}  wiHlulssw D) s_GUUBSHSI.

According to Gross and Crandall which step of management is called the heart
or crux of management ?

A) Planning B) Decision making

C) Evaluation D) Controlling.

% BlieunswIesgl ..cccoovvnnenenn. RFISH(GHOUSET PeVD £ LV 2 MLl HHM fWH
Blensvenw 2 meunsdl o1 Corieney Hleunsd QFwwen. '

A) ey CrruseT B) o &swren Cruruse

C) Geusmevtium._nen Crurigen | D)  Supsswren Crrriuasr.

To alleviate physiological fatigue, there must be cessation of physical activity.
Hence the organization must provide which type of periods ?

A) Rest periods . _ B) Peak periods

C) Activity periods D)  Pressure periods.
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111. Gwé &mlﬂiﬂﬂ snhmitivg Qb rean® usflamer QaLdpg), Seme

A) .gsaﬂlﬁsuﬂgsuﬂsin wéltiib, seps whlunrengub

B) seafluafigaflss puhHwuned Hewmgs wHiyw, Feps wwrengub

C) gstfi&aﬂgwﬂsh woyb Fusru wiwrmgu|b

D) gsuﬂ'mcuﬂgsuﬂsh puhHAwned e s wHuyw wrle wAwremgujb.

Accordjn_g to Maclver family performs a pair of functions. The_y are

A) slattés ascripﬁon and societal identification for individual

B) status achieved and societal identification for individual

C} staty__:s ascription and community identification for individual

D) stat;js achieved and state identification for individual.
112. geasGlang nguﬁmhé.@m Ghwub Bas sméng

Al wIppRWTE $&F B)  Caipts®éaob 5@

) Quimengry s&H D) edalssed.

Family provides each individual

A) asc;ibed status B) achieved status

C) economic status D)  educational status.

113. @yeangbEn CupulL eusgamhsma gam Crigs em ergenons
O BHOUIGGUTDS .....oeeon et GO D,
A) .u:m g 66U o_um_rsmm
B) @Qm@ HLIHD £ LIGTEUTID ,
C) mgéaa:muas Q'eu'Ju.ILE SimAGMB WD L_een_sHlw e LisTewTD
D) &é&ﬂu@ﬁgﬂb £_LI& [ 6saID.

When twé or more equipment are pul together as a single piece of equipment, it

, is called
Aj modular equipment B} mobile equipment
C)  custom built equipment -D) cleaning equipment.
iF .,
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114, Spsasngpid suné,é,\u.usw,efﬂe\) g,;bsmg, S5\ 68 @(p\mug)‘;ﬂsh @mné\amr&mﬁ
SIEVEIMGEMEU ETEMEU 7

1. sewreuetn etiGuUngnoug) eumeuni

.  wenewell semeush o 1960 audiiunf

. @RhanssEnssE bwr &b bu Q&ﬁg;é,]sb LI 2-68nr(H)
V. gheng Ghibudseneveui.

Beupgysir : , ,
A) 1,11 wpgun U1 sflwrereneu B) 1 wpHmub Il sfwreseney
C) 1 wpmub I sAwrerene D) I, Il whmtb IV sAwnensneu.

Which of the folloﬁing is not a characiteristic of a partiarchal family ?
I.  Husband may be a casual visitor | |
II.  Wife comes to live in the house of husband
JIII.  Children have right over property of the mother’s family
IV. Father is the supreme head of the family.

Of these
A) I, Il and Il are correct B) Iand I are correct
C) 1and Il are correct D) 1I, Il and IV are correct.

115, @@ &Obuth HemwaghHE (péwwrerg
A)  Smwemiid '
B) Geitdmpse
C) wsdHwonen Glumgpet
D) @@msﬁuamn@mﬁ e Claseug;.

' To constitute a family the essential characteristic is

A) a form of marriage B) sense of unity
C)  specific object ' D) mutual understandiﬁg.

116, i, Geusmen  gyenen  QeuminiSienngyth,  HOFensfwsSlenneb
2 emLndma. :

. A) gurhnsdlemed ghulib gueuamns Gariey
B) OQemulfenned anu®ib supausns Caoriay
C) Bueremwliame gpudn @meams Ceniey
D) wenb sbubsons ahuBb geume Gariay.

3008 |
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Cenernen b leads to discomfért and aversion o work.

A) Frustration fatigue B) Boredom fatigue

C}  Impairment faligue D)  Psychological fatigue.
| .

@géaﬁ@m cursdwmsefled aig seum ?
L. mrefs @@bun Sgrfloyrifullelr eflenemey
II. ,l_r,nasr?qs HOH UL MBS cgqmmt:dﬂ;h efleneney

s ;5na,rfa; GOwLd shaganfl Hsasder Csrevallllsn ellemenay,
L GPEOSsELEE sobdlr 2 fmowb 2 au®
V. mrafs @,@Lbufo WHFFTILIDHDS).

Boupgyet :
A) LI 11 &M, IV geumy B) LI, 1V &f, Il geumy
Q) LI, IVef 1 geumy D) I, 1, 1V &f, T seugy.

<

"Which of the following statements is not true ?

1. The modern family is the offshoot of industrial revelution

II. The modern family is the consequence of the emergence of
democratic institution ’

I, The modern family is the results of the failure of patrarichal family to
" provide liberty to children

IV. The modern family is the product of secularism.
Of these
A) I, 11, Iil are true, but IV ‘is false B) 1, I, 1V are true, but il is false
Q) I, 11, IV are true, buf IH is false - D) If, II1, IV are true, but 1 is false.
SpeuGmaustiaunmied sig Brefs GHousden Geambd Beoeneo ?
A) Qun@jmngmr ¥ 3330 B) @ophg wgs s Buur®
O urgremiele B Beemio D) wemeneilullsl smpHeneo.
Which of the following is not a fcature of modern family ?
A) Economic independence B}  Decline of religicus control

C} - Lack of sexual relationships D}  Subordination of wife.

[1301] : [ Turm over
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119, g cusnaiwinen 2.Ceunsib semwiwed LNESHrusmen o maunss LweTLGEDS 7
A} gmuShgsar e’ B) Héaé
C) Gamumsol D) anoui ( Qeuy ).

Which metal is usually used for manufacturing cooking utensils ?

A) Stainless steel B} Nickel
C) Cobalt : D) Copper.
120. Qeuereflls LL&aL it £ citen FISETRISEMET ......ooooveeennn.. erebImILD S myeuit
A) EPNS Gl&seotd B) ENPS Glswiseolb
C) 'SNEP Qauisedd D) PNES Q&iseotb.

Silver pilated equipment is also known as

A) EPNS ware ) B). ENPS ware

C) SNEP ware D) PNES ware.
121, sismwlenu JguuamLwiss oOsran(® @Hwusams Biun GOfésecomnd ?

A)  gefl wHond Afeunen GH UL ‘

B) gefl ‘m;i)gu.b wr&fe GHwub

C)  mrsfs whmb eNeunsn GEHbUD

D} seflwbHpw Armo GO buUD.

On the basis of structure, family has been classiﬁed into

A} nuclear and extended family

B) nuclear and frm'dcrn ‘famil).r

Q) modemn rand extended family

D) nuclear and rural family.

122. eSfsunen gHbUL ,lf,\mmuJA/um .................... Coina81.
A)  gells@@outkss B) &l (D&EHUbURaE
C) Armo@Bubuhss D) g,emr @OburiasT.
The extended fainily can be viewed as a merger of several
A) nuclear families B}  joint families
C) rural familics i D}  urban families.
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2 1B, G\susrﬂa,@@ SligtiuenL s @GHwusms @mmug] mm&uu@ggwnm
A} gefl bHoyd st B GHUDULD
B) LL‘_.@@&@G‘U Smwewrd wHmIb Qeuefllé@upsEen Hmoemmod
C) - g,sl;ﬁmg‘)gub 2 LG Shwemrih
D) gsuﬂd wpmib Ceuefls gp Hmwend.
On t;he‘baéis of ingroup and outgroup, family may be classified into
A) nuclhcar_.and joint B)| 'endogamous and exogamous
C) nuc.:lcar and cndogamous D)  nuclear and exogamous.

aden  giewllaemer ( Gassing | peopller Fopaplin  GedubGurg
eggpdw,sdm_mm&aﬂs\) sihs Geusd sflwrengns QewdouGéng ?

A} 30-858/BBLe B) 90 - 225 S/ESLib

C) 230-290 B/HH b D) 300 - 325 8/EWflib.

Which one of the following is the correct speed applied on gray goods during
gassing process ?

A) 30 - 85 m/minute B) 90 - 225 m/minute

C) 230 - 290 m/minute D) 3QO - 325 m/minute.
Lﬁﬁthnt_L@mm SQuysafled SiMVGET  FEHLULSHS
SRFERTIDNG _6TTENS),

A)  smhE SiemessT B) Nenanps siemevsst

C) | ;ﬂménm © Dy Gusemaynes. '

e . wave is responsible for the cooking in an induction stove.
A)  Magnetic waves ' B) Electromagnetic waves
Cj Electricity D}  Magnetron.
Wetreuqmeusnieuhmyen 618 Seumns QunmssLUL(Hereng) ?,

A)  wssw (pigey = GO sl auntigeausl

Bl  ®&W ®ue — wrerreufseaflel &Haye0n Lwiewd
C) QL::;'{%EWQW (Pigey —_ suenrugen ufhorHmb

D} Qsmieomru ey —— 2 _cvwrey Goens Jenw&sen.
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Which of the following is incorrectly matched ?

A) Ceﬁlrél decision — Purchasing a house

B} Group decision — Students’ cx_cursion

C) Economic decision — Allocation of exchangce of resources
D) Technical decision — Setting the dining table.

eSeust erebrLieuffletr Litg: LSS mf;,rbgmg .................... ppeod gHuBHDS.

A) @ Bemeoulled LmPW FnnsameT 2 LS50

B} yduw Hemevd g Clasveug

C) yduw Heneoulled giged

D) Qe emansgin.

According to Lewin habit changing 6ccurs thropgh

A}  unfreezing of old elements in the situation.

B) moving to a new level

C) freezing at the new level

D) all of these.

Sipsanem)bd eurrésélmu‘.w;mﬂsu sismeu sfwnerene ?

A} Al Q&mmuu@ Condlss8e sl sl L sl QUuuBsgwn ;_r,t_smq.ésma
B) &wm Qswe r_r,L.,l_i',g,LSl;p@ ghupeug adlitare S b e Henev

C) OGeupifiamors sl Guubhsgib srrenflad e g é@t_en Cordliiug
D) Qeneu gienendgiib. - |

Which of the following statements is correct ?

A) The last phase of controlling the plan of action is checking the process of
plan :

B) Planning is future tense occurring after action has taken place

C) Factors of successful controlling is promptness in checking

D)  All of these.

| 1301
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129. Beé@amnis wWsaaTEIZNms 2 _deng sTeNpIes ersiren ?

A) 53@ BLsdled Ha giflswnen ks sawenfldme
B) @@5 fLsdev b @amphs wssablgremns siehwenilsams
C)  wesGon Beooons m Lo
D) Bauhmist srgiaSledeneo.
What docs sparsely populated mean ?
A) An arca with large number of pecople
B) An arca with few living pcople
C}  An arca with no peoplc living
D}  None of these.
130. Bowwmeulsd 2_een WEEHTAGIMNS TSSOEWG) ?
A Bs SiL-figSluing B) w&aGem Gevenso
C) o @mpainen wsEML SIS D) e sdlawien wiaabigrma.
How are the Himalayas populated ?
A) Densely B)  No population
C) sparsely‘ popu]atéd D)  Excessively.
173 DR QumhBprisst wHp CluHCpmismetelL. graser @GYhmgsefib
Wss Blemeoliso @priLmisen. ' A
A} staundlany B) a-@]mﬁ Sieflé @b
C  sderrepho D) mrEUIG Dsveons.
........ seseeeneene. parents are more detained and less warm than other parents.
A} - IAuthoritarian , B) Permissive
C)  Authoritative D)  Uninvolved.
132. sigwdl Siaflsge Geamapsten GQUHCOIIEET ..o &5
..... s SGID Gmpounen eAwsGID Sefluunisdr.
L. s@uu@ssuuc e Gundleng '
1. Denenssens Clencoe s
Hl. Gadrell Calang Sip Ligaed
. V. &w S D6,
Beapper : _
A} lomHghnb I sfwreneneu B) 11 whmyd IV eNwneseneu
e 1 wHmib 111 #flwresreney D) 1l wHmibd IV sflunerene.
[3008] f1301] ' [ Turn over
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Pcrm'is.sive parents give less importance to "."', ...... UOTIOT and ............ feeeee .
I Value control
[I. Self expression
I[lI. Unquecstioning obedicnce

IV. Seclf regulation.

Of these
A) I and i are correct B) Il and IV are correct
C) 1 and Il are correct D) 111 and IV are correct.

133. epIwe QUss (peonuiled euamissiLL L @gpgmg&m'lm;p 2 _6iten * s1em
Qumyeuk :

. flmbussss GammsameLb, saps Pemssd
. seflurs sspdlrons Aigamen Glaww
. wHpeuiseme S HehT_enans g uu.u_i',gsuﬁassﬁn&

V. sgamuune aemgub a@SE1F Qelwh Seremw.

j?a.@gydr : |
A) L1 opmid IV eflwrereneu B) [ wpmb [V sRuransne
.C} Il wihHmpb 111 sNwnemeney D) Sievemgaib Fflureneneu.

Children brought up with dcrﬁocratic dis_ciplinary techniquecs would
1. achieve desirable personal and social adjustments
It df:vclop independexln:e in thini;jng '
IIl. fear punishment more than others |

IV. be active and outgoing,

Of these
A) I, I and 1V are correct B) I and IV are correct
C) 11 and Il are correct D)}  All are correct. .

£ |
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134, i (peopulied sedell spusID, HYCernsmens GClaroguaenn swions
amsu@Aspg. Bbs (P aamiEd EoN QuEsD. swsBUuBEE
péHusgaibd eflsdenmg.

A} sigwdHusfls@d BRGNP SD

BA‘)' ' &umﬂ‘mnmguaﬂ&@m BOGIR&ESD:
C) shaunrdsmoalsGb BOGLNPESD
D} SifstruwhHn KGN EsD.

remrer techniques are synonymous with education & counselling in that
thcy emphasize growth, self discipline and self control.

A):  Permissive disciplinary B)  Democratic disciplinary
C) Authorilarian diéciplinary D} Authoritative disciplinary.
135. sagryemmons Qps giemflenw .................. sTebTmILD @ﬂ&&sﬂnﬁ:.
A Lmd - B @eled
O enmigen D) M

The plain weave is sometimes referred to as

A).  Tabby B) Twill
C), Satin _ D) Rib.

136, @mﬂuﬁldn Cudynd Bmémnd Bam_ Hgemea ............ i SHa@b.
A Gefled ofi B) \fenenew o
C)  evmiien ey D) SOl e

Long fNoats on the face of the fabric indicates

A)  Twill weave B}  Plain weave
; C) ~ Satin weave D)  Felt weave.
137. é@ﬁ,cmgac‘n ydw smsgibama Ardsgs Canhmaubd sbupLen Bmempgib
: Q& reenayid GPHNSEEHED SMeV DIUKTEMPD - vveeeeeerannne
ComamuGhemg.
Al gbhmew B) eicingmsed
'é):gﬁg? Quirsencnsen D) dArdlgsed.
Thq child needs time to digest and absorb new ideas,and
A) ) lco-operation B) counting.
é) _. suggeslions : D) absorbing.
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138. @ oo LPEESmS B ahubBss Cauandn aevpre, BIb B
GQlawemeoCu G Curey Hmbu Srpbus Geiw Caan®n. |
A} eifliuridang B) eA@mbussens
C) eflmbussens D)  HenpCeuhu:.
In order to cstablish ...l habits, it is necessary to do the éame thing
over and over again in the same way.
A) ~ . unexpected 7 B} desirable
C) undesirable - D) implemented.
139. e reenee STEOTLIG GicwsTiuT et @gy&@g g,smmu.) wHnib Lgrés flemeses
S pupse sresriiL@Bib.
Al wGrudediiy - B QredeSwesed
Cl Qurrrefic iy ' D) Qeursvigdy.

ey refers to the extent to which a fabric can be deformed by
compression or crushing and returns to its original condition.

A)  Drapability - B} Resiliency
C) Porosity D)  Elasticity.
140, i, Geitggd Qunupg sienfllisy umusTsEGL Setamw Gemub.
A) m;uusfucun; B} Gemgwb enapl gréenev(®
C) 'ml_l_rrevﬂu,ub mL. gy&Henen(p D} GuriLrdwuw enr. &GrnGu.

Lustre of fibre can be reduced through the addition of

A) diphosphate B) sodium hydroxide

C) titanium dioxide D}  potassium dichromate.
141. fla siflswren srdlgn, Nemevgs ClunmLs6n wHD LGG\)H&D QlunmL_senen
' Siflswls afiLb FAPESMS BID .................... TEIDE SiEDYPSENCDMD.

A)  Pemasdafln sepsd ' B) Gumeivl Resmmeivigfoiv gapad

C) vLnedls sppsd D) wgewBursnust sapsib.

Socictics that throw away large quantities of paper, plastic, metal and other
materials are called '

A) recycling societics ‘ B) post-industries socicties
C) toxic societics D)  disposable societics.
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puUmLpgaisdT Hiflanns Fmuugrgid, Guigelliqupd @GmphgisTengd
&0y ceten prsefled @ mBrLgd spsrksd Quilw  GGHubukaamer
2sfsfenng. o151 o5 ?

A Quoflést B @ndun

C)  Synstrsiv D) Sevrn.

The nation whose government is promoting largcr families because of aging
popula.uon and low fertility rate is

A) - USA | B) India

C)  France T D) China.

safung sbuel omg LBWSE SHBHOOULL SbLSMIUI G (premu
cereresarivnrerenas srendlsmpeuir.

Al Curns sbuef B) &fsv sbuafl

C)  spnd QsLwiucL sbusf D)  ausmsuu@&suuL. sbush.

The raw wool or newly sheared wool flecce is called

Al yalic wool ) ' B}  grease wool

C)  recycled wool D)  sorted wool.

gewred predlenpwined Gaunutiule gerflenw .................... arendlGomb.
A) &néuné& B) . uiGlsuds

C eguhudamemssniul i g D)  Siusn.

The fabric form of jute is frequently called as

A) Kapok _ B) Burlap

'C}  Blended fabric D) Alpaca.

145.

#Cp Gardssuu Dammausafles waaafldr adiurissuu®n a!,q@ds@
EI.DUEQI.&GOG\)ITQQJ ag ?

A) srélfruuﬁesa;uu@m Splenreng plen i Qurnss. e @smh wHpb
uredlen ByliusnL e QUi wIMUIG DmLWIg

B} 2002 Syer® USA & Sinpaeufaafles sSliurisanu@ib opusmreig)
anssnp 77 3 geiniesh
T
C) guunefléd siliunritsasii®ibd st aniﬂéw,rrmm el 5% gidlan
D) Heo mr@ssfley aﬁﬁun#&muu@m SPWET SLHS @@ug au(mHL_tuasafled
GEDESIERETS).
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Which of the following statcments is least accurate as they relate to life

expectancy ?

A) Life expectancy is by nation and varies insignificantly based on race and
sex

B) Life expectancy in USA for people born in 2002 is aboutl 77-3 years
C)  Life cxpeclancy in Japan is about 5% longer than in USA

D) Life cxpectancy in some nations has actually .droppéd in the past
2 decades. .

@ubmaseman ghnstansgn@ phemwuh sbubsuBSHe CeratLTd Bmb

GRhmasenL 6N & ewria; Lieuwns gerdl Curseoni

Al sppmgsdidn anpsms - B QupCprt eumpdens
C) spms@Gps D)  usefdsab.
Acceptance of the child and invelvement in .....cooooeinnne. helps to establish an

cmolional connection with the child.
A)  child’s life B)  parent’s life
C} environment ' D) school.

2011 @ wvsadCgims somsdlerun  Bndunler  waaMGIZIMS
srehien 7 '

A} 221 Bevedlweh B) 221 BeveSwiet
C) 121 NeveSwsk D) 12 1SeveSlwiehr.

According to 2011 Ccnsus what is the population of India ?

A) 221 million ' B)  22:1 million

C)  1:21 billion D) 121 billion.

Gphng wemb (@Gpwiu Heaullsd gensfiLib @@Qﬁ aeng sflune
afrucrdlsprise e HBWNS QUIEPSI -oovvererereen. apuBepg.

A) YRy Cesnsvepged 'B) SHoeno

C) suprs yfibg Candengsd ‘D) gpmemwwuphp Eleme.
.................... arises when the child is confused over what is exactly expected of
him

A) Understanding B) Co-operation

C) | Misunderstanding . . D)  Non-cooperation,

1301 |


www.studysite.org
www.studysite.org
www.studysite.org
www.studysite.org

de,

i
! : | 49

149. ummaumgﬁm denrensd Gouened & iiw e..quwauu@Muuu.L_ msemdl
ﬂgsumm QeiwiucLg ?

Sy

151.

A)
G

% : _
G@ltbu o B) @L'b_l_b'-l
Y o@ D}  siiblesflb.

i
The rnatepal of which primitive hand knitting needleés were made is

A)

C)

.¥ Cesnna

B) iron

D) aluminium.

ai,frasc&rmmsh - B)  wgrmb-ul(®

g " . _ o
ﬂunshsm_.sh D) diuseev ( psms ).

AL aougl GEDhS pDisdeamed @vm@ Sive @""D' _—
,r_r,mrneo G\gn@muu@ﬂeﬁm@

s

. ..~.;..%_.1;:,;.*... is a low tw:st ply yarn formed by combmmg two of thrce single
strands.of ‘salk -

! ﬁ;) ' wa():ga%hzmc . B} Tram-silk
C) Gre_qa.dmc , D)  Singles.
%ﬁaw&éw L (D) eTsbrugi : : : -
A @xgnm GDibEmLw preo '
Bj ";;%I& wnis@enw Hrev yf
K 5@@@6\) os@eLw pre yfl
D) @g{_ﬁﬁmnw mrev yfl.

152,

Organzine silk is a
Sy it

A}

B)
9
D}

loiv%t'l\vmt ply yarn

hjghitwist ply yarn

niédfhm-twist ply yarn

Ught‘ly tw1sled ply yarn.

,_ng)G,rgrr@&@lﬂuJ unswﬂa.stﬂsu Apps s

A}
B)
C
D)

'ajg?j‘mﬁtuaﬂé@m aﬁamu@pgbgo Lmsaseoefliiy, en'rsunﬁlamr

R

aﬂmuﬁ\ﬁnﬂ'. Sigiwdwefiseb, a;ﬁ\snu(y)gbm yD&senfiliy
a;ﬁla.w(y:,rbm, Gﬂmu§1$nu, &@mﬁmaﬂ&gm ymasenfity
gpé&fmﬂuq. Sigiolusfiagn, sianfary, sfsrmpbp.

: {1301
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The best order of preference among the parenting styles is

A) Permissive, Authoritative, Neglectful, Authoritarian

B) Authoritarian, Permissive, Authoritative, Neglectfﬁl

C) Authoritative, Authoritarian, Permissive, Neglectful

D)  Neglectful, Permissive, Authoritarian, Authoritative.
153, Nebreumb sifsamssamen ufifelsasain

. aqg]m,é] gma‘ﬂes@m Qum@g{)u@ml_u.l GRHMSHEHHE swnld

Siflawne o_eeng

II.  sc@ou®ssib Qs BommenL_w GRbmssEHsE — swuild
Siflswns 2. 6neng,

. sismwd seflsEgn QuhCormss srgl'r'runr'mq (&SODEUNs _sTeng
V. sl @uupssb QubHGmmir @Qﬁmgﬁmm @mmsﬁn&cm

SUOUUbS G 6.
Bepgydr :
A) 1 wbmb I sflwreneneu B)  H whHpnb 1T sflwrensneu.
C) 11 opmyb IV sfwreressy D) 1L 11 wpgyh IV sflwrenene.

Consider the followiﬁg statements :
- L. Autonomy is great among children with permissive pareﬁts
II. Autonomy is great among children with restricting parents
HII. Less demanding nature is common among permissive barents

IV. Less controlling nature is common among restricting parents,

Of these

A)  land Il arc correct B) Il and Il arc correct
Q) I, il and IV are correct D) 11, 11 and IV are correct.

154. cueogu.m Hensuller auenanssuLBID (PMISHSEOTEIS)
Al ZpisG B)  Repmad
O Luypss D) Sppse
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The twist which is inserted in the right hand direction is

A} Ztwist B) R twist

C) L twist - D) Sitwist.

ureSlwehL i steiiugy sTUGUNmHL seflsst elenemuned Hens8ms

A)  eoLemapl fé evaanrd whmib e sriurdhedledls sifleon

B) emLemant fs .%sbesg@nd) wHNID igfé bleod ‘

C) Glapseon Bflelislr enL gblelr whHmID soLsriLGedls jfleod

D) enLenani e ayoeapie wHps Gapdmn BeSer s siben
Polycsters are the product of the reactions between

A) dihydric alcohol and dicarboxylic acid

B) dihydric alcohol and adipic acid

C) hexamethylene diamine and dicarboxylic acid

D)  dihydric alcohol and hexamethylene diamine.

GRLmg cuais@Gh  (PODUAR ... . QupGprisst s Gubms
euenfiiiy (wewpuiled Blaayw wHun® Béeomoed Gl '

A simwdusiisew B) sieundlsay

C)  PabEDL semew | D) selisze.

In i, parenting, parénts are relatively uninvolved in the child’s
upbringing.
CA) permissive B) authoritarian

C) neglectful D}  devoiding.

sHpIsGRee Bis undaen oo wawdis Bmasb Bran® Ceioksdr
A) CO,;, H,S0, B}  80,, N;O

C) €Oy, H,0 D) NO,, Hy0.

The two compounds that acid rain contains that are most damaging to the
environment are

A)  CO,, H,S0, B) SO, N,O .

C) €O, H,O D) NO,, H,0.
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158. aunmellu anwdléd b GupHGpriser ag wrHf .;r,sbG\é)n@és& (Pemmenn
Slenfle@n Qunepg eifiuntser ?
Al Bumnbeveons, (&phensseoTionen | B} Glwensmwwnen, Clar@rwrsn |
C)  yewemnui@®ibd suema, sftwnen D) Je&dmis, Hlwmnuwnre.
Adolescents tried to rebel when disciplinary methods used by parents ‘are
A)  unfair & childish ~ B) mild & arrogant
C) commanding & appropriate D)y ideal & justified.

159. @pHeneo D EBTL_eoIBEmET Buhens urgeTLLSHEG e Sebd UwgyeTer
B (penn Ceameuser ' '

A)  usemwBeoe elemerey . B) e iflwe s.Miuun
C)  eulli Garemb Fwhlenes D) sbmi&Gwd Coramausen.

' Valuable practical services that help to preserve ecosystemns performed by
nature are called '

A} greenhouse effect ' B}  biological control
- Q) biosphere balancing D}  ecosystem services.
160, Qprey Reuiwng gienfl Raubenmd ..ooeecevivennnnns 2 " UGG,
A) UL oI ' B} Sletrered geusfl
) Gevmgm D) Ceveiuaer.

" Non-woven fabric includes

A)  traditional felts "B} knitted fabrics
C}  braiding | D)  laces.
161. usmswndr RBenemssiull wHmd mF55 Poewssuu geawflllsn
£2_STFewTid ‘
A)  prshT-gpeusin ‘ B) ysusrwnen preoyflser
C)  L@ustrers el D) enemev. '

Adhesive-hounded and stitched-bonded fabrics are examples of
A) non-wovens B) novelty yarns

C) fancy weave D)  knitting.
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162. "Qeuwii. ésu'.bhuslﬂ. Setrevredlett epetM) Bilg LILISHL WITEI SHSWIEOEHETTETS

- A} Slemenen-FlL, uied engwed, F mawed

B) weoranl, BeonCeneiv, Lied s wed

- C)  dlenenstr I, LB, igENTETL

163.

D) \S‘GBG\"!G&I B, uied mg,u:éi), FrClaed Bl

The three fundamental stitches in weft knitting are

A} plain-knit, purl stitch, rib stitch

B) tricot, Milanese, purl stitch

Q) plain:khit, purl stitch, tricot

D} plain-knit, purl stitch, rachel knit.

Slesteumid Qpea) penpenw sflwnsn Wenpulled SHdsab :
L Gt o0 ppib Qeor g Gposts

I CuOLefin

m. e

V. ‘Qeagligm.
Bepgen : |
A} IV, 1, I, HI B) IV, 11, I, |
) IV, LuL I D) Iv, 1L, 11, 1.

Alfrangc the weaving operations in proper order
I.  taking up and letting off
1I. batte_‘ning
I, picking
IV shedding.

Of these
Al IV, L IL N : B) IV, II I, 1
c v, l,'i:Il, 11 D) IV, I L
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164. &ggné\ apenm,  QELSD mgpgju: Geum (empeefled g]smsﬂ ClFLIWISSa1q L

GlunpeTreng,
A uesd - B mie
Cl. preSiemyp D) mred yM.
Any product capable of being spun, woven or otherwise made into a f’ab1.~ic is
A)  cotton ‘ B) thread
C) fibre . D}  yarn.
165. gifleulswrs  Geaiwiu@b  gesfladsr SEM  ppetm

SingLuenLwres GipFa; (PeppwTed Qelwuib.

Al Qenens, Giefleo wHMID 0T 1q60

B)  Ulewerstr, L_mi wpHmn eSCesrn

C) ‘ Semenetr, Gieflev wHDID LCrnCaL.

D)  evoun, emGlLL. wHnb fveiled.

The three basic weéves used for majority of fabric construction are

A) plain, twill and satin B) piain, dobby and leno

C) plain; ﬁvill and brocade D}  spot, lappet and. swivel.
166. Gsllev Qpeay empuilsn Caupy COxsaipamp |

A} A Cpsey B) Qapfflk Gunsy Qpaeay

C)- LreGEL Opsey ' D) enmgeln Qpsey.

" Variation of the twill weave is
A)"  rib weave B)  herringbone weave
C) basket weave D} satin weave.

167. S Bisd Penpllelphg Hred Lflwns (y:sur(%smg;ub pempuwneng sflwres
Qi

A) quaﬂqrﬁu, aningri ( prindf ), eurmnige, &QQIQJG;DGTI HMID 6UEMETHED
B}  eurmuged, BrAlifl, wrrligm,shpieiaer wHDID cuenaTEeD

C) mrird), eunmise, TG I, CUEDENGE HMILD b auewen

D) B, eurmysed, eueneTSed, g rTlighl WHIHID SHHIeIHET.
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The correct sequence of- the development of short fibres into yarn is
A) drafting, carding, combing, winding and twisting

B) combing, carding, drafting, winding and twisting

C) carding, combing, dralftihg, twisling and winding

D) carding, combing, twisting, drafting and winding.

gyngfurs QuCurisensansr sadlulsh Cgamar sisuanm wrpLGADEG ?
A) gm; BenOsHE 5 ssadgn sSpsfluen Spg

B) ugsnemiqh @ @@(y)m;b 5 sgefs efpsAusL Ang

C) eaunphens paugib Gr Flemsoulled o efveng;

D)  eunpsens (pupsugid Srrem (pemmulisy SidlaflsEw.

On average, adult cnergy needs

A) decline 5 per cent per year

B) decline 5 per cent per decade

C) remain stable throughout life

D}  rise gradually throughout life.

ahs e LFss5s,  amwsalld gpu@b CalLmsi®  gbhuimoed
ungiarsSmg ?
A)  BIg e LiLsas B} Cleodidlein

| C)  yedurig. yéenSlL_ebm_eiv D)  HCsn flevib.

Which nutrients seem to protect against cataract development ?

A}  Minerals B} Lecithins

C) Antioxidants D)  Amino acids.
glenflaeflesr Gopugh 2 wigsuul @ s Gb e

A} q:usmghﬁ: | B} mrcSin.

C) Gablevstig Mk D) QuenGl M,

Raised surface finish on fabrics is
A)  sizing B) napping

C)  calendering D}  tentering.
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171. uenFwWrEd @L_L.uu®u> él,rﬁltu NGy @mg;assmrm e glewfl ..

stesr (.
A) etofsmrenyfny B) enbQundn
C) Beonsdfn D) é]a’seﬂlij.

The finish in which short fibres are attached to the surface of the fabrics by

means of an adhesive is

A) schreinerizing . B) embossing
C) flocking ' D) gigging.
172. SebeumeussieupHpien orhs e swrelled Qansvevigyrsd Bnssang) ?
A} (pLleoL B) - GleueinG e
0 Genumlswrev | D) Ben.
Which of the following does not contain cholesterol ?
A)  Egg ‘ B) Butter
C) Soyabcan l D)  Fish.
173. Spsacim_ aunsfwiisemend &susuﬂa,e&
sihm (A) S o emelléd o eten Qa,ns\)dulq.n'ﬁm mL@Gw &b

Clanevsvg TreSieh ppeongnbd

snyewb (R): &6vefedie Glasnevsiogragh @é;élu.tmﬁ& swnflssuuing.

£Cp @Bt _Gieter GRS sNwnen elen_mws CoitOswH :

A) (A wpmb (R) Braw@e sf, Cueb (R) eetug (A) i@ shwren
Henssib .

B (A) wppe (R} Brae@o sf, Cueud (R) ssitug (A) i@ sfwnen
el endaine060 ‘

C) (A)efl, gyemmed (R} geugy

D} {A) wppiw (R} @res(db geumy.

Consider the following statements :

Assertion (A): Cholesterol in the diet is not the only source of serum
' cholesterol

Reason (R) : Cholesterol is also synthesized prmcnpally in the liver.

Now select your answer according to the coding scheme given below :

A) Both (A} and {R) are true and (R} is the correct explanation of {A)

B) Both (A} and (R) are true, but (R is not the correct explanation of {A)

C}  (A)is true, but (R} is false '

D) Both {A) and (R) are false.
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Q-G s AsnQCrnllsin (pgememownen oo &8558 GMEGane senen ?
A) Gerguib e LCI&T6TEHSemne (§EDSS60 |

B  Remrsvwrefed Bomis GonES Yrssmg Bav(io Henpss

Q) srdun 2 snums sifsMss '

Di Qanaply 2 L QaTaTEnaIms GMmDEs.

“The primary nutritional objective in nephrotic syndrome is

A) to limit sodium intake

B) to replace protein lost from plasma

C) to increase calcium intake

D)  to reduce ‘fat intake.

appwLIs, saEAUNs, SDEOLWNS SI_L&SngW L £Cy argm by
GUlLLsE apng ? ‘

A)  usmeflée o flw gyemL

B) % suenflaggiennuilenmee o fw g en

C) & @ Hicunsb QewusumsE o flug

D) .. wrewew Crrb yemflwsaniguig). '

Which one among the following types of dress should be projective in nature,
attractive and give a feeling of efficiency ?

A} . School wear B) Business wear
C) 'Home wear D) Evening wear.

SIBI\EO FMDUSYSSMETT (LS EHENLOWITEST HITEISHI6UID sTetrent ?

A)  sufls LTS 2 diten & cwre S

B) g fswren GlEnpliy 2 616 o ey seir
C . a@mm.'{rﬂﬁ BFFS5S L 66T 0 _6BVI6 56N
D) siflswrem 565 Hephs 2 emeyss.
The primary contrit>utors of acid ash are
A} . high protein food's

B) - high fat foods

C) high fibre foods

D}  high energy foods.
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177. Seéneumuesneupbmiet sEs S5 Gopun® shwurs Benemssiiu elevenss ?

n
B)
C)

D)

sncofwinb

GlwaefRAuwnb

. Bowy ssg

BISHENS &55)

b sioig Gu ITGLHI’GI}'II& 670
Seng usvelesin
Canelememawn

SCIr g eflaw.

Which of the following mineral deficiencies is incorrectly paired ?

A)

B} .

C)

D)

Calcium

Magnesium

Iron

Zinc

Osteoporosis
Muscular weakness
Koilonychia

Cretinism.

178. LU [ @ ulgqued I oLeén Guimsd. £8P Qar@ssiLl_Gerer
GHIQsmears Claran® slwner clenLemws Caits@

L iqued I

GCenguib

Srsvdwb
SseCeor_

wfls A

b’c

3 . 2

a)

b)

c}

d
EAIP s :

a
A 4
B 1
o 2
D) 3

. [3005]

uiguied I
1. Beln (pLlsmL; &e0edTey, -
AmiBrew
2. en&Ceol, ek, usemey
3. e, gullit, usenfi
4. MSG, flusiv, LeuL_L

L_6TUT6Y| & 61T
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Match List I with List II corrcctly and select your answer using the codes given
below :

List 1 . Listll
a) Sodium 1. Fish roe, kidney, liver
b) Calcium 2. Chocolate, tea, spinach
c} Oxalate 3. Cheese, curds, paneer
- d) Uric acid 4. MSQG, chips, processed foods.
Codes :
a c d
A) 4 2 1
B) 1 3 4
c) 2 3 4 1
D)y 3 1 2 4 ,
179. SIMNEG HOMSEDHD  ..ooreereenoe, wenp  Ppuaemas Cotiudenned
2. CRTL_M&S (1piguld. |
A} p@flemeownen B)  sysaronenr
Q) a;iq.Uuml_u.mm D) @Uahm__mb UL SLDITGW.
All col:ou;-s are created out of combinations of three .................... colours.
A) necutral ‘ B} basic
C) primary D)  sccondary.
180. Lﬂshsu@gjmmﬁ)@dr siemeu Qé,ns\m‘uqunms\) HODES snigul BEWTRY BGOSR 7
U A Gemundeen Bl pewm®
C)  (pLem D) wgped.
Which pf :thc following is not a hypocholesterolmic food ?
A) ééyabean _ B)  Garlic
C) Egg D} Turmeric.
181, o L6 e My mmﬂarg;ﬂsb Beophgishanency stemeu ?
A)  Glanevsivigrned B) - PUFA
"C)  MUFA D) HDL.
Orgén me";ats are a rich source of ‘
A}  Cholesterol B) PUFA
C} MUFA : D) HDL.
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182, &phssin_ mn&eﬂur&amma seucflés :

LN RAVE anmma.a',m_eﬁ uunuugj D_..I_G\)I.J@LDGDGUT ﬂﬁ)u(aggjﬂmgj

snyewsip (K): anmm&a,m'_aﬂ uUnflLISTe0 WHO &@&gﬂunm Caumevsenen
SIUYPULESS A Henng).

4Cy @gﬂunﬁh..@snm @'lﬂlﬁl_lqs\) gfiwmnes aﬁlmL_mu.lg, Ggl‘l};@\g,@

A)  (A) wvpob (R) @usﬁw@m &f, Gueub (R) srslnugj ) sﬁp@ gflwinen
Rendaid

B (A) oppid (R) Brew@r sfl, Cugubd (R} ﬂsinug {A) eﬂ;b@ sfNwren

sBend&s106060
C)  (A) &, gyemned (R) geumy
D} (A) wpmib (R) Boan®iid seaim.

Considcer the following statcments -

- Assertion {A) : . Television viewing fostcrs obesity.

Reason (R} : Television viewing replaces vigorous activities.

183.

Now sclect your answer a_ccordirig to the cdding scheme given below :

A) Both {A) and (R} arc true and (R) is the correct explanation of {A) .

B) Both (A) and (R} arc truc, but (R}is not the coi-rect-explanation of {A)
C)  [(A)is true, but (R) is false -

D)  Both {A)and (R) are fahc . .

gnmuumﬂm o _chren sr,u_r,g TS, muﬂgngu@una@ 2 GGG emarenen
afkadlsnpg ?

A} eonsl giaofle - B) mna‘;@n_nﬂi_uﬂq'm

C)  eondki. syenSly,Blei D)  eon&Gin »GennyeSieh.

Which is the protein in breast milk that attacks dliarrhoea causing viruses ?
A) Lactadherin B) Lac;.to-t'erin

C) Lactalbumin | D) Lactoglobulin.

184.

ICMR flén Queimagnmsana suflresallst ufligiemnrssul L. gemey ( RDA )
asnen ? ’

A)  1.0.8.4./flemd B} 1.58.4./$lemb
C) 20H.4. /fHenb D) 254.4./Hemb.
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'ICMR recommendations of pyridoxine RDA for an adult woman is

A 10 mg/day B) 15 mg/day
C) 2.0 mg/day. . D} 2:5mg/day.

185. aﬁutﬂﬁuﬂ Quetnsgns®  Curels ' oubieb  aghars Ruwd
aaﬂ&auu@ﬂﬂmg ? | '

A) . Gpddd apuBd mgmcumnwdlﬂma L CLY

B smn Qmuum,s &ODES

C) stouLemulie eueitsdls GmpuI® ahuBaumg GEDes
D} @yeiulle Byrd qyu Gopur@ss gpudums sG&s.
Why is lolic acid supplementation essential for pregnant v:vomcn ?
A}  To prevent hypocalcaemia in the foctus

B) To reduce maternal mortality

C) '[‘o reduce intrauterine growth ratc

D)  To prevent neural tube defects in the foetus.

186. arﬂcﬂeﬁg e ewralied greflunsafieflmbg Hen kb 7 Bmis
Couatnid. o

A} 50% sgalssHie Banned

Bl 75% spelpsfne Bemnod

C). 50% sgelssdli®e (BHHDWNDED

D)  75% s5eB8580he GMDWNOD.

In a balanced diet, encrgy from cereals should not be

A)  more than 50% B) morc; than 75%

C)  less than 50% - D) less than 75%.

3
8
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187, uiligwd I @ ulnued NI 21 Quimsdl, &Cp OCerdssun @
@PuID s Clanan® Fflwunen sllenL_emws CaikOs® :

ULigwed 1 _ ' L g.ued 11
sryafissl : oSsmenasdr
a)  WB@durer sCenfissn 1. &b AUNGiseT SifleNsse0

b) i@ Hwnen Camguibd 2. & Penaedlstn yflafsge
c) u‘ﬂ@ﬁlu.mas qém&ulﬁllq.ﬁgsb 3. gidls v Qangpuy
d) S@durer g 4, Qs Lsreveninesen
' Sifafgze0.
GIIG s r : '
a b c
A 3 1 4
B) 1 3

BN NN R

4
c) 3 4 1
D) 1 3 4

Match List I ( Causes ) with List II { Consequences ) correctly and select your
answer using the codes given below :

List I List &1

a) Increased calories 1. increasc in serum lipids

b) Increased sodium 2. increase in serum insulin
c) Increased smoking 3. increasc in body. fat
_ d) Increased alcohol 4. incrcasc in catecholamines.

Codes :
a b c | d

A) 3 1 4 2

8) 1 4 3 2

C) 3 4 1 2

D)y 1 3 4 2.
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189,

190.

191.

i 63 ZYLA

sreodlwid whmib ursvuigellss slflgb 2 amelled sihg Hlameoulied LignoRdauL
Geuettr(hiw ?

A)° 1:15 B 2:1

C) 1:25 D) 1:1.

The Ca : P ratio in the diet should be maintained at

A) 1:15 B 2:1

€ 1:25 D)y 1:1.

ﬁau_rsﬁ]sb e .isFEe A ahg Smeneuuliented @gﬂuﬂn_mu@aﬂmmg‘ ?
A} M P emeu_1fler A B) B-&Qyn_wqehr

C)  sCraliee w0 iy D) Qplgenmred swwdiy.

Vitamin A content of the diet is cxpresscd in terms of

A}  Serum Vitamin A : B) p-carotene

C) Carotene cquivalent D)  Retinol equivalent.

s ({Dég15 2 omiey b Brefledr ... e’ L 58458 Camesanwt Flenpay
Qewsugns Bmés Ceuan®. :

Ay 12 | B) 1/4

C) ‘1_/5 D) 1/3.

Packed .lunch should meet .................. of the day's riutritional requirements.

A) 1/2 : B) 1/4

C} 1/5 ' D) 1/3

e EESEIE Genpey (perustall umeaus GhmssaiaLCu ghuBaughaser
(WPSHENDS SHRTEBID :

A)  saps Qunmenngay enpenwhlened

B) udfllisnenio

C) SHELNTEN 2_ERTELD m,r_ﬁguh o _6wT6y LMmnsEenn

D) &smIemiiunes Qlpsens (Ppsom.

The primary cause'of malnutrition among preschoolers is
A) pbor socioeconomic status B) . poor appetite

C) faulty and inadequate dict D) active life style.
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192. #C0p @EHsssurGden  HopayLmager afd  swams  adliaGb
BeopapL b Bomer ?
"A) Jespuienii, B) dvsnism@®
C) ‘cﬂen " | D} grCenlil.
Which one of the following is not a soil repellent finish ?
A) Fybrite B) Scotchgard
C) Visa | D} Ranedare, .
193. &0y Qarssuuc. e Crrysafler gy GuImESHOMNSS. i - ?

Al madkGPEmSeEr - — susSlwnen wHHIb seouons ugmoflsgb
B) Laleof — plaugsmsulicn sfsuls aghdrb

C) euwgnemeuh ' ~- uemuemiunen YSut eueshiseh

D) @pen umausHent | — ghmisC E&nshendon gw Linewfl. |

In relation to éelection of dress materials which one among the four is Qrongly
matched ?

A) 'Infam:;. ) ‘ — comfort and ease of care

B)  Toddler — " maximum freedom for activities

C) Aged - bright, accentuated colours

D) Pre~adoleéceﬁts — acceptable style.

194. £Cp LI Rneraupiies e Lenenen t.ﬂs!lrm&_u&n.. M3S3 eugeusSle
Pome. sim ag ? ’

Al JSumbl dleraniuc L smgwed

Bl (@peons Senaiul L smgwed

C)  Mafefeiv guéa Seemiul.L enpuie

D) Qgid emgwen,

Which one of the following is not a form of plain-knit stitch ?

A)  Flat knit stitch B}  Tubular knit stitch

C) Fleece knit stitch D)  Jersey stitch.
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195, ﬁ;mya’s_fr’if_i“'srsh@]m Qenev shs QuaulleNmbe Canendug ? -

196,

197.

198.

A) | Qq}ﬁﬁd’r B) Gigyiioskt

) gpmdew D) 9Qgse.

The iaqg}.l?gc from which tricot comes is

A) Lau'r; ' B) German I
C) English D} French.

£Ciy Qasn@&asuun..@shm Q;f,acq susmalled 61gl, FTSRTERTIONS D umS\mum
@pm@;ﬁl%m ClaL_tg winest mgbgjm Qmmaﬂm 1555eb G\;snbsudwa.mug 7.

A} aaﬂs_nmwnﬂn . B}  LC(pefled
C) emigenr . D)  &lwe.
The least expcnsivc but most commonly used weaves for both thick and sheer
fabrics is |
A) plain ‘ | B) twill
C) satin | D)  sateen.
uney BreNsE WL, ea® HrEusEn 2o edgremd soubsuul.L Quwil agy ?
A) gureo cisseuafléena: B) eswfklene
C) seefleln @b D) efdsn.
Which bn¢'0f the following is related to the ratio of warp yarns (o filling yarns in
a fabric ?
A) Thread count B) Balance " S
C) Selvages D) . Proportion. - . .«

£Cyp P eneuseflsd, Crwneshr giemflenw Gu@monl B Lmes ag ?

A)  uens B} Gimevigen .,
C) e rhé& - D) Qm@@.‘

Which one of the following is used for sizing rayon ?
A} Glue ‘ - B)  Gelatin

C}  Starch : D) Wax.
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199. £Qp OQar@sauul_@emameuaefledd g LRPRsTESEE glé‘,eﬁrmé. asgpib
Hleapayt i Qeuw e UCuIsLURSSGUL L g ?
A)  Hdé " B)  gplaeh
C) wheosv b) - asmm&dy.

Which onc of the following was originally uscd for the finish gigging ?

A} Thistle _ B) . Thorns
C) ‘Teasles ﬁ) Weeds.
200. efl Bésin L ussfAG ................... €55 GMPauNs eeneng.
A) 8 ednsssg B) sneowid
C)  unsougein D) @wby esg
‘Huskcd raw rice is a poor source of
A) I? vitamins , B) Calcium
C)  Phosphorus D) iron.
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Register
Number
2011
HOME SCIENCE [ J¢}reé.- @
Time Allowed : 3 Hours ] [ Maximum Marks : 300
Read the fol.lqging instructions carefully before you begin to answer the questions.

_ IMPORTANT INSTRUCTIONS

1. This Booklet has a cover { this page ) which should not be opened till the invigilator gives signal to
open it at the commencement of the examination. As soon as the signal is received you should tear
the right side of the booklet cover carefuliy to open the booklet. Then proceed to answer the
questions. .

2. This Question Booklet contains 200 questions.

w

£
Answer all questions, All questions carry equal marks.

4. You must write your Register Number in the space provided on the top right side of this page. Do
not write anything else on the Question Booklet. ‘

5. An Answer. Sheet will be supplied to you separately by the Invigilator to mark the answers. You
must write your Name, Register No. and other particulars on side 1 of the Answer Sheet provided,
failing which your Answer Sheet will not be evaluated.

6. You will also encode your Register Number, Subject Code etc., with Blue or Black ink Ball point pen
in the space provided on the side 2 of the Answer Sheet. If you do riot encode properly or fail to
encode the above information, your Answer Sheet will not be evaluated.

7. Each question comprises four responses {A}, (B}, (C) and (D). You are to select ONLY ONE correct
response and rhark in your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you censider the best. In any case, choose ONLY ONE response
for each question. Your total marks will depend on the number of correct responses marked by you
in the Answer Sheet.

8. In the Answer Sheet there are four brackets { A} | B j [ C ] and [ D | against ecach question, To
answer the questions you are to mark with Ball point pen ONLY ONE bracket of your cheice for
each question. Select one response for each question in the Question Booklet and mark in the
Answer Sheet. If you mark more than one answer for one question, the answer will be treated as
wrong. e.g. If for any item, {B) is the correct answer, you have to mark as follows :

[ATHR(C1ID]

9.  Yoéu should not remove or tear off any sheet from this Question Booklet. You are not allowed 10 take
this Question Booklet and the Answer Sheet out of the Examination Hall during the examination.
After the examination is'concluded, you must hand over your Answer Sheet to the Invigilator, You
are allowed to take the Question Booklet with you only after the Examination is over.

10. Failure to comply with any of the above instructions will render you liable to such action or penalty
as the Commission may decide at their discretion.

11. In all matters and in cases of doubt, the English Version is final.

12, Do not tick-mark or mark the answcrslin,the Question Booklet.
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